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Do not turn over till vou are told to do so

Read the following carefully :

1)

2)

3)

4)

5)

6)

7)

8)

These questions are designed to test mental ability.
You will find here many interesting questions.
However, these questions are not like the ones you
find in your school examinations., Therefore, try to
understand carefully how you are required to answer
questions.

Do not write anything on this question booklet, mor
leave a scratch on it., To answer it you will be
given a separate answer sheet. Answer in the answer
sheet, If you have to do any rough work, do it on
the blank side at the back.

Now, check up if your pencils are well sharpened.
If the lead breasks off while the test is going on,
Just stand up and ask the examiner for a fresh pencil,

If you want to correct an answer, do not erase, Just
scratch it (X) and write the correct answer beside it.

You may not be able to answer all the questions in the
allotted time. ©So try to answer as fast as you can.
If you find any question difficult, do not waste time
on it. Start answering other qguestions, you get one
mark for every correct answer.

Begin your work when you are told to do so. When the
time is up, stop writing and close the answer sheet.

Now, you will work out some examples, and be sure that
you understand them thoroughly.

Before you work out the examples, fill up the blanks
(your name, etc.) at the top of your answer sheet.
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Work out the following Examples

Answer t@e following questions according to instructions from
the examiner. Do not write anything on the question booklet.
Keep the answer sheet te the right of your boocklet.

1. Boy is opposite of |

(1) naughty (2) male (3) girls (4) pupil

2. Domestic is opposite of :
(1) goat (2) wild (3) animal (4) +tamed

3. Which word does not go with the test?
(1) cow (2) duck (3) horse (4) buffalo (5) sheep
4.,  Which word does not go with the rest?
(Four alternatives relating to some indigenous articles
of food and the name of a kind of paddy are given).
>« Just as pen is to write, so, axe is to what?
(1) chopping (2} handle (3) steel (4) firewood,

6. Just as foot is to sghoe; so, head is to what?
(1) hair (2} mind (3) hat (4) brain,

7. What number should come next in the following series?
b 5 6 7 8 . . e . ?

8. What number should come next in the following series?
20 15 11 8 6 I v e e ?

9. Rahim is fatter than Ram; Jerina and Mary are leaner than
Rahim. Who is the fattest among them?

(1) Rahim (2) Jerina (3) Ram (4) Mary

10, Jadu is Mathu's brother. Madhu is Sadhu's father,
What relation is Jadu to Sadhu?

(1) brother (2) grandfather (3) uncle (4) maternal uncle,

11. If 4 students can sit in each of the 8 benches in the
class; how many students can sit in the whole class?

(1) 30 (2} 28 (3) 32 (4) &+ (5) 12.

12. lata saved Rs.1800 in the year. How much did she save
every month on the average?

(1) Rs.100 (2) Rs.250 (3) Rs.200 (&) Rs.225 (5) Rs.150.

Have you understood how to answer the guestions? Do you want to
ask anything? You cannot ask anything afterwards. When you turn
over this page you will find the test questions from page No.1.
As soon as you are asked to turn over and start answer from
Question No,1. Bach question has only one correct answer.

DO NOT TURN OVER TILL YOU ARE ASKED TO DO SO.
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1. Which word does not go with the rest?
(1) chair (2) dog (3) table (4) cot (5) a lot stool (Rita)

2 I1f one orange costs 10 paise, how many can you buy with Rs.1.60%
(1) 10 (2) 18 (3) 12 (4) 14 (5) 16

3. Just as father is to son so, mother is to what?
(1) Aunt (2) daughter (3) elder sister (&) younger sister.

4, 3atngkantaa spent Rs.1.60 out of the two rupee note he had
in his pocket. How much paise does he have now?

(1) =20 (2) 60 (3) 30 (4) 40 (5) 50.

5.  Which word does not go with the rest?
(1) stone (2) wood (3) horse (4) iron (5) soil.

6. Just as ice is to solid so, water is to what?
(1) qiquid  (2) hard (3) fire (&) boat.

7. VWhich word does not go with the rest?
(1) bpok (2) writing (3) letter (4) reading (5) house.

8. What number should come next in the following series?
& 7 6 7 6  .iveee. 7

9. Inside is opposite of :
(1) heart (2) outsode (3) house (4) courtyard.

10, Dhan is taller than Man, Ken is shorter than Man, but he is
of the same height as Ban. Who is the tallest among them?
(1) Man (2) Kan (3) Ban (4) Dhan

11, Which word does not go with the rest?
(1) red  (2) sky (3) yellow (4) blue (5) green.

12. Gain is opposite of ¢
(1) expense (2) money (3) loss (4) business
13. What number should come next in the following series?
( 12 11 10 9 > 1

14,  Which word does not go with the rest?
(1) Sack (2, 3, 4, 5) Names of some bamboo-made household -

articles.
15. Plene is opposite of
(1) coin (2) solid (3) small (&) dry

16. Which word does not go with the rest?

(5) Chilli (1 2 3 4) Names of some varieties of gourd,
Now, go TO question No.17 on page 2. Work rapidly as Time 1s short).
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Just as Good is to Bad, so, long is to what?
(1) Beternut  (2) length (3) short (4) measurement.

What number should come next in the following series?
6 9 12 15 18 L) L] *e * * * - . ?

Which word does not go with the rest?
(1) house  (2) good (3) vig (4) pad (5) small.

Darkness is opposite of 3
(1) black  (2) night (3) light (&) invisible,

Just as I is to my, so, you is to what?
(1) your . (2) he (3) his (4) our,

What number should come next in the following series?
15 13 11 9 7 . . - . » * ?

Which word does not go with the rest?
(1) Kerosene (2) coal (3) wood (4) fly (5) & burn

Ira and Meera have individually more -plums than Neera.
But none of them individually has more plums than Dheera,

who has got the maximum?
(1) Meera (2) Dheera (3) Ira (4) Neera.

Rich is opposite of :
(1)} poor (2) great  (3) cultivator (4) business.

Which word does not got with the rest?

(1) student (2) mother (3) teacher (4) book (5) daughter.
Ramen has four times the money Haren has. If Ramen has Rs.20,
how much rupees does Haren Have?

(1) &4 (2) 10 (3) 2 (k)8 (5) 5.

Woman is oppesite of ¢

(1) grandmother (2) man (3) wife (4) person.

Which word does not go with the rest?

(1) frock (2) Riha (a woman's garment dress), (3) Dhoti
(mekhela (a momen's garment dress) (5) blouse.

What number should come next in the following series?
12 17 22 27 32 .o .o O 1
Rough is opposite of :

(1) smooth (2) back (3) frog (4) wood,

Which word does not'go with the rest?
(1) street (2) path (3) lane (4) bund (5) way.

Now, go ©o question NO.35 on page 8. Work rapidly as time is short,
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33. Just as see is to eye; so hear is to what?

(1) song (2) ear (3) nose (4) art,
34, Soft is opposite of

(1) hard (2) cotton (3) light (4) butter,
35, Which number should come next in the following series?

25 21 17 13 9 . . .« . . ®
36, Direct is opposite of

(1) revolt (2) indirect (3) illusory  (4) philosophy.,

37. Just as ship is to port; so, train is to what?
(1) engine (2) guard (3) ticket (4) 'station.

38, If a family needs 1 Kg. of sugar in 5 days, then how much

grams of sugar on the average is consumed by the family
per day?

(1) 150 (2) 300 (@) 200 (4) 250 (5) 350.

39, Unacquainted is opposite of :
(1) acquainted (2) person (3) disguise (4) foreigner.

40, Just as eating is to fat; so, not eating is to what?
(1) fasting (2) lean (3) food (4) not chewing,.

41, Imagination is opposite of
(1) creation (2) thought (3) day dreaming (4) reality.

42. Which word does not go with the rest?
(1) kind  (2) miserly (3) covetous (4} greedy (5) person.

43, VWhich number should come next in the following series?
21 30 3© 48 57 . . . . o 3
44, Short is opposite of :
(1) squathy (2) narrow (3) long (4) small.,

45, Which word does not go with the rest?
(1) black (2) star (3} hot (4) white (5) cold.

46, Sleep is opposite of :
(1) langour (2) awake (3) dream (4) white (5) unconscious
47. Which number should come next in the following series?

46 38 30 32 14 .o . . e 2
48, Vertical is opposite of :
(1) norizontal (2) incline (3) hill (4) static.

Now, go to question No,49 on page 4, Work rapidly as time is short)
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Oof any fogr friends, Ashraf is rich, wahed is strong,
abul is wise end Matin is a good sportsman. Now, in my
grave denger whom should I rely upon most for wise counsel?

(1) Ashraf (2) Matin (3) Washed (&) Abul.

Just as January is to Feb,; So, first is to what?
(1) class (2) second (3) one (4) chief.

Which number should come next in the following series?
11 12 11 15 1M - . . e . ?

Just as moon is to earth, so, earth is to what?
(1) sun  (2) geography (3) world (4) planst.

Green is opposite of
(1) fruit (3) hard (3) ripe (4) green (colour).

¥hat no. should come next in the following series?

1 3 2 1‘" 3 » . L] * . ?

If from a particular place I go forward and then come back
and next I go to the right; and then by returning to the

place I go finally to the right. On which side of the
place shall I be then?

(1) front (2) right (3) back (4) left,

Just as Tear is to sorrow; so laughter is to what?
(1) teeth (2) hah! hah!(3) mouth (4) happiness.
A rectangular pit can be filled up with 64 cubic feet of

sand, If the pit is 8 feet long and 2 feet wide, what
will be its depth by feet?

(1) & (2) 7 (3y 3 (&) 6 (5) 5.

What number should come next in the following series?
10 8 11 9 12 . . . . ?

Just as cat is to fur, so, bird is to what?
(1) flying (2) wing (3) beak (L) egg.

What number should come next in the following series?
5 7 14 16 32 . . 1
A, B, C, D sat together in a bench. C sat to the right of A,

B sat nearest to the left of A and D sat further away to the
left of A. Who sat to the left of B?

(1) © (2) B (3) D (&) A,

(Now,go to question No.b6? on Pageb, Work rapidly as time is short)
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Page 5
What number should come next in the following series?
16 61 15 51 14 1

Liberation is opposite of :
(1) bondage (2) autonomy (3) salvation (&) order.

What number should come next in the following series?
7 5 10 8 16 * - * - - ?

Hostility is opposite of :
(1) selfishness (2) endeavour (3} murder (&) friendship.,

I have 4 bananas. I want to distribute % 4 bananas among
5 boys. How many extra bananas do I have to buy?

(1) 20 (2) 16 (3) 12 (4) 18 (5) 14,
Just as Saturdey is to Sunday; so, Sunday is to what?
(1) holiday (2) sabbath day (3) Monday (4) shopping.

What number should come next in the following series?
23 18 14 11 9 . . . . 7

Just as love is to friend; so, hatred is to what?

(1) friend (2) neglect (3) hate (4) enemy.

What number when multiplied by 18 equals the sum of 48 and 607
(1) 12 (2) &4 (3) 8 (&) 9 (5) 6.

If a fox is twice as strong as a tiger, and if a tiger can

triumph over an elephant and an elephant can overpower a
bear, who is the strongest among these four animals?

(1) elephant (2) fox (3) tiger (4) bpear.

Which would does not go with the rest?

(1) singing (2) whistling (3) hearing (4) talking
(5) humming.

Just as competence is to incompetence, so, praise is to what?

(1) blame (2) veneration (3) reward (4) welcome.

What number should come next in the following series:

6 L*' 2 10 8 * * * » ?
Just as disagreement is to foe, so, agreement is to what?
(1) sisters (2) union (3) similarity  (4) friend.

(Now, go to question No,76, Work rapidly as time is short).
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76, East is opposite of :
(1) west (2} empire (3) civilization (4) universe.

77. What number should come next in the following series?
60 30 32 16 18 » » - - . . ?

78. Just as legs is to cow, so, wheel is to what?
(1) round (2) runs (3) cart (&) engine,

79. Tdciturn: is the opposite of:
(1) naughty (2) talkative (3) duty (&) fool.

80. What number should come next in the following series?
3 9 6 18 15 . . . . . 7

81. Which word does not go with the rest?
(1) elder brother (2) younger brother (3) uncle
(&4) nephew (5) aunt. \

82. A shopkeeper finds that by selling goods worth Rs.100
he can make a profit of Rs.20. In order to make a
profit of Rs,200, what amount of goods (in rupees)
he has to sell?

(1) 800 (2) 1000 (3) 4000 (4) 2000  (5) 3200,

83. What number should come next in the following series?
1 4 9 16 25 . . .. . 2
84. Four articles when arranged according to increasing size
fxrg form the order B C D A, The same articles when

arranged according to increasing weight, form the order
C B D A, Which is the biggest and heaviest of the lot?

(1) A (r) B (3) ¢ (4) D

85, Which word does not go with the rest?
%13 drum (2) Knhoi (musical instrument) (3) Tabla
4) Mridang (musical instrument), (5) Flute.

86, Just as betel-nut is to salver, so, ten is to what?
(1) refreshments (2) sweets (3) cup (4) liquid,

87. Just as clothes is to person; so, fur is to what?
(1) animal (2) sheep (3) warmth (&) hair.

(Now, go to éuestion No.88 on Page7. Work rapidly as time is short)
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88, You walk 100 years from your house and then turn right and
walk 50 years. After that, you turn right and walk
100 yards. How far (in yards) are you from your house?

(1) 75 (2) 50 (3) 25 {4) 200.
89, VWhich word does not go with the rest?
(1) I (2) our (3) my (4) you (5) his

90. If a boy runs 200 yards in 20 seconds, how much (in yards)
does he run in 1/5 second?

(1) 1 (2) & (3) 2 (4) 5 (5) 3.

91. A postman has come to a crossing from the south. From
here he has to go to a village called Mithamukh, To road
to his right leads to another village, and if he walks

straight he will reach a dense forest. Which way is
Mithamukh?

(1) west ‘(2) south (3) north (4) east.

92, Just as house is to room; so, book is to what?
(1) reading (2) story (3) knowledge (4) page.

93, " What number should come next in the following series?
© 240 48 12 4 2 . . . . 2

94, Which word does not go with the rest?
(1) copper (2) steel (3) iron (4) 1ead (5) 1lac.

95, Just as clothes is to soap; so, utensils is to what?
(1) bell-metal (2) ash (3) brass (4) food.

96, Which word does not go with the rest?
(1) cat (2) crow (3) fish-tail (&) Kawai (a kind of
(5) wasp. fish)
97. Biren is intelligent and strong; Jiten is.clever, but
quarrelsome; Dhiren is handsome and is like Jiten but without
the quarreling nature. Niren though dull is handsome and

is liked by many of these four boys, who is the intelligent
and handsome boy I like? .

(1) Biren (2) Niren (3) Jiten (4) Dhiren,

98, Five trees are planted in a row 20 yards apart. What is the
distance (in feet) between the first and the last tree?

(1) 240 (2) 310 (3) 220 (4) 160  (5) 120,

(Now; go to question No.99. Work rapidly as Time is short).
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499, Imprudence is opposite of :

(1) capacity (2) bravado (3) politeness
(4) neat and trim.

100, Which word does not go with the rest?

(1) well (2) diteh (3) pond (4) stream
(5) lake.

The End
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If you have finished before time, go back and revise,

N.B, The scoring keys for intelligence test and SES
rating scale cannot be provided due to copyright.
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